TAERI LS Z R

Bit— NESE

PREF 1

1L (DEH Uy K
(2)100
(3)2.7 4
4)— =
(5)1.7X3
(6)2.7
(7)28.8 28.8
(8)0.25%X31 W

2.2.1 24.4 88.2 3.6 3.5

3.(D5.12
(2)5.16
(3)5.4
(4)9.9

4.0.8X4=3.2(m)

5.1500+100X8X 6, 78=813. 6(JL)

T 3

1.7 5 3 BF (L 3 4> 1. 7 BYFD

110. 16

R 2 D#EENHDO

1.3.2 0.21 0 0.48 0.15 0.56 0.6 8
2.(1)7.65

= =

(3)63X4 W H W

(4)3. 84
3.(DC (DA
4.0.608 22.1 4.374 22.14 26.585 140.3

5.(1)6.5X1.2=7.8
(2)12.6X0.5=6.3

6. 40. 8X4. 60=187. 68(JL)

7.5.8X3.5X2=40. 6(m")

8.10—2.2X2=5.6(m)
5.6X2.2=12. 32(m*)

WA 3 DR EO

1.0.2 70 0.068 10 1 6.98 0 6

w

6.

I

EJERY)

> = > < >

.2.36 0.12 0.0342

. KEH:10.4 3.9 7.02
Fi1:0.9 0.378 0.81
X K AN b

.25.8X2.5=64.5(71)

25.8X0. 75=19. 35(JC)

19.35<C20 fi%

9.5X9.5=90. 25(m*)

90. 25X 0. 04=3. 61(kg)

. (1)1.6X0.7X3=3.36(m")
(2)3.36X38=127. 68(J0)

.0.0240. 02X 2. 4=0. 068

A4 DEFIHO

(3)35 7 L

. (1)156 100

(2)100

.5.25 1.932 0.246

3.40.5X1.58=63. 99Tk /B

5.

L4.5X2.2=9.90T/T5)
9.9—4.5=5.4(JL)
(1)8.75X2=17.5(3%)
(2)2.50X4+4. 08X 2=18.16(IT)
(3) M

6.1.2+1.2X15.5=19. 8(T>k)

= W N =

Wi
PRET 5

.1.8 0.5 2.29 2.10 2 6

.4.98 65.72 2.12

.0.25X45~11(m*)

. B 0. 015X890~13. 4(kg)
WU — AR : 0. 02X 890=17. 8(kg)

B 6 FxEHAEGEAD

R AL AN

.
(D4 0.8 1.25



3.0.466 245

(2)5.4 4.6 2.8
(3)4.6 1 4.6 0.01
0.13

4.0.44X0. 26 X400~46(m"*)
5. (0. 35+0. 05) X 23+0. 8=10(km)

wnm e W N

N &

.0.27 0.35

. (1100 8.9

L (DAE
.16.52 724 25

. 3.5X100-0. 85~411(4)
. 40X0. 6=24(km)

.4.95
2.35X8—2.4X8X1.95=242.56(Jn)

R 7 REBEEAZGEAQ

81 0 5030 0.1
4,019 20 2.75

7.8 18 15

(DODMEER 203.85

(e JamE 7. 84
(DTG 7.475
WIS 34. 15

. 8.6X4.3=36.98(m")

0. 6X0. 6X100=36(m")< 36.98(m’) A

. 20X0. 15=3(TF%)

4.5X0.8=3.6(TK)>3 Tk HREEIA
BE S AR

(2)0. 0245
() TILS AT

(DA (DARHE

16X1.2=19. 2(km) AIfE

L6+ (5—3)X1.5=9(0)
L 64+(8.5—2)X1.8=17.70J1)
8.50X (28—4.5)=1175(JT)

g
Re 3]

PR 9

5.04
AL

3. JKEI . 28X0. 45=12. 6(JT)

4.14. 8X2+22. 6 X3=97. 4(I0)
. KR 0. 6-+0. 4) X 240. 3X440. 2=3. 4(m)

T2 .30X0. 45+5X0. 65=16. 75(I0)
220 30X 0. 454-2X0. 65=14. 8(IT)
12

R 0. 4X840.4=3.6(m)
T s

IETTAHRE

6. 38.5+(42—4) X0.8=68. 9(JC)
7. (1)100=+-20X0. 8=4(JL)

168—100=68(g) 441.2=5.200)
(2)100+20X1. 2=6(J0)
206—100=106(g) 2X2+6=100J0)

BT (&
war 1 AHESEFEED
1.5, (1,5 (3,3 1.D
2.B(6,5) C(2,5 MEm A’(3,00 B'(6,2)
c'@2.2
3. SFERIE (I
4. QLD H7,2) i, +G.D
(5,6) (5,2
5.(2,3) (4,1 (2,1 ¥
B2 AHRFEATIEED
1.(DQ2,3) 4 2
DH14T 2 6
(3)(3,3) (5,1) FFNEEMCGEWEMTEAE R
EJTE)
(3,4 (5,1
2.(DC (2B C
3. 1%
4. (DM

(2)(10,7).(7,5).(11,5) , [Elmg
(3)(10,4).(7,2).(11,2) , g

BIt= INEBRE
Rl DERAEKD
LR W o o
(2)2.1 (3)0.34
2.4.5 1.22 5.4 5.7
3.44.832=1.4(f%
4. (1)15. 36=6=2.56
(2)31.5+5=6.3(J0)
5.94.7 94 FEFEIHE
6. 6.09 2K
7.4.5-U4—1D X (13— D =184
R 2 DERAEKO
1.0.72 9.12 0.7



- W N =

(=)

.(D0.8
.20.4 0.06 0.031
. 421--5X(5+0.5)=463. 1 (km)

N SN e W

D N ST S

(D=

(2)5.1 (3)5.6

U

. 118. 8+4-+30=0. 99 (kg)
.64.8+-12=5.4(m)

(124-5. 4) X2=34. 8(m)

L4 8X2+(18+32)=0. 192(Tk/4M

PRET 3

5.2 0.25 0.9 3 0.7 16 5
.6 0.8 56 8 86.4 2.4 864 24
L7750 7.8 7.2
.6 240

— N ER AN EOD

Do

S = al

.214.5=2.5=85. 8(km)
. 35.2-0. 64=55(H)

. (1)16.5+5.5=3(f%
. ZEHA 48 480 480 12

(2) %

WA 4 —ANETRADNEO
S > << >
.11 15 6.175
.36.4 140 26

. (1)48. 4--0. 8=60. 5(fi})

(2)78+48. 4X2=174. 80JG)
PRAEF S RIS

2.97 2.975 3.0 3
(2)1,2,3,4 5,6,7,8,9
(3)8.004 7.995

.20.9 20.87 20.870 8.0 7.98 7.983

1.9 1.90 1.904

.(D1.3 0.9

(2)0.25 5.46

. (1)73+3~24. 33(m)

(2)2.5+11=0. 23(m)

L 6--49~0. 12(4M)

49-+62~8(iH)

- B BR B , R — S RO SRR 3. 24

1. 8X3.24=5. 832
0.139 0.193 0.319 0.391

091 4

[

3. (11112222

N = W N -

WA 6 JEIRANEK

.3.781 0.260 0.333
ADX DO X

L6154 2.043 0.78

DX X

1.0507

,0.188 0.18 0.18 0.18 0.18 0.181346-

0.18>>0. 188>>0. 18>>0. 181346+
> o< >

.2.012 (D1

REF 7 R BRE AL

.167.4 192.3 158.5 218.7
3 2 4 1
.

(2)148

1111122222
(2)9.876 9.8765

(D~ (A
(511111
(6)111111

.0.87 0.435

B8 AE AL ME

.0.32 0.49 33.8
. 28=+3.5=8(1/IP)
.952.4=3.75 3%&
. 200--5=40(1/49)
.10.5—1. 7X5=2

2--0.8=2. 5,5 H B 2 Bt

WE 9 AFFHHT

70+-8=8. 7T5(/NAT)

700--40~18(4%)

1. (2.5—2.15) X 1500=525(J0)

.34.4--0.5=68. 8(Tk /)
68.8--68.8=1CNif)  7:15+1=8.15
I TE 8:15 BAMIIN

. BEFELE.90+2. 5=36 Tk /i)

KL .90+1. 5=60(CTK/mf)
60—36=24(TK /i)
. B

B 10 kA

(D6 (2)6 (D5 D6 (D)3

ON;



2.
3.
4.

e o=

. 1. 35X0. 6=0. 81
. 896. 5+ (1+10)=81.5 81.5X10=815

I

> > <

(LDC (DA (3B
(D48-+14~3.4 T 4 T
(2)100+6~16.7 HELT 16 M4t #2

CA:47.85+(4+1.5)=8.7GL/FH

B:38.25+4.5=8.5J0/F}) Bl sk

. (1)15.2X8. 8~133. 8(m*)

(2)(15. 248. 8) X2=48(m)
(3)300+48~6([&)

. 83000+ (25X 24) +2269. 2(3K)

Z/DTHE 70 54K,
A 11

0.85 105 0.3
1.95 39.2 1.5

Re ]

1. 44X0. 6~0. 86

BT 815 JC. 5 W 81. 570

. 18.9+5=3. 78(Ifi)

3. 78X 25=94. 5(Iif)
300—94. 5=205. 5(If)

. 20X 1. 8=36000)

(43.5—36) 2. 5=3(Iit)
20-+3=23(Ifi)

- BT ST 208

(65.8—59.5)=1.5=4.20T)

. B (34, 5—19.5) +—2=7. 57T /ke)
TR - (19. 5—7.5) +3=4(T/kg)

1 kg HE 40
Byl AIREME

w1 TaRrd

It
Ik

(DX (O B (DX (B
L(DOFLE (DO54E (OO

ik
WA 2 THREQ

L(DE 4

(2w 2

w N

A UV e W N

® NSV PR W=

.(D1l+a a

(3) 8

- PUMBIRE b B AR A
NOPE VY R =k

() 10 Mt

- BRI ER A 3 R E O IS LLER AL

ER—ANHER 53— AR BRI —
LT B TTREEK.

WA 3 LREe4%

(D2 (DIFEFE BRIk

(OHFE 2 (BB 3

T EEI AT BE R

6 1.2.3.4.5.6 f/NEA

1 7

A3 2 2 3 7 6 3 9 7 9CKME—)
NELETFE N REE /N A

Lonff
V4

BiuHE BEFE

w1l RAFHEAFHO
A BN xS ST

a a
(3)t+5 (4)40004a
(5)a—b (6) 2000

a

(DB (C (3B (OB
(D15 (27 (3)66 (416
(D324a (D37 (D13
Lx=14 y=160 z+y=14+160=174
a=1 0=99 ¢=7.5X2=15

atb+c=1+99+15=115
wE 2 AFFEATHO

2)m—1 m+1
(Da+76

(3a® n+a

(5)64 16 10 16

(DX (OX (X WX (B B)X



3.(LB (2)C

4. (1)100—(a+0b) (Dx=+5+n
(3)320—12m (4)(80+b) X5
(5)6S—2 (6)(b+90) X6

5. W&

6. (DK (1. 54+a) X2=34+2a(m)

e -

ﬁ*ﬂ:]. S5a 1'1'1Z
(2)(1.5+1.2) X2=5.4(m)

.(D10x (2)5n
a
(3)25b (4)%

REF 3 EH AN A

7a 9a 5 5m «x

%

(DX (DX BV WX
(1)5.42 6.18 (2)2.8 7.2

(3)4.4 5.6 (D125 8 (5)2.5 4

N N

S=UL = v——

v t

s
105 2.3 70t 70

e 4 BEEAEO

. (1)25a (2)105—4x
_ v

(3)42—b D305

(5)% (6)35—x+y

25 7 9 11 13 15
3. (DB L ERAY B

D F—KIMT A F
S RN TR ZEA 4
(DB AL AT B s

4.(1)9.4 (2)67.5 (37
5. (1)80a+326(J0)

(2)80X60+32X30=5760(J0)

. (1D12a(m*)
(2)a*+12a (m*)
(3)108 m*
Lat bt
B 5 BRFAOQ
.(Da+7 5n 3b—6 (2)6b 5(x+4)

a

D (x+y)=2 (4)2a+7
(5)65Ca+b) 65(a—b)
(6)3x 4x 2x 32°

2.a 2a 4a
3.D8m (2)2x (3da (4)10y
(6)2y—6
4. (1) (120+80) X =200m (FK)

=)

N W N =

(2)(120—80) X m=40m (F4)

. (1) (46+38)y =84y (km)

(2)(46—38)y =38y (km)

A6 FARMESL

7. (Dx—1+x+x+1=18

Dax—4+x—2+x=24

wet 7 FXOBKA

1.D1 3 &Ff @5 1 5 Q1
2.(D+40 (2)—160 (3)X5 (=
3.(1)46—23 (2)23—2x—16
(3)12+14 (1)8+a

4.4

R 8 MO

c(Dx+25—25=76—25 x=51
5

(2)x—26+26=32+26 x=58

2.x=42 x=50 x=83
3. (Dx+20=100 =80

(2)42+2=100 x=58

RE 9 MO

AD+ 0.3 (DOX 7 X 7

2.2=0.25 x=660 x=13
3. (D15x=315 x=21

(5)0. 6m

c(Da—120()  (2)100—12X5=40(1)

DY OX (X DX BN B
DN DY B (DY BN (DY
(DB (A C

S5x=7.2

.(Dx+73=166 (2)y—20=140
(3)3x=384 (H)a+45=2

.A=8 B=2

5 @2

8

L+ 4+2.6=36.8 £=17.1 H=19.7



(2)49.2+—x=24 x=2.05
(Ddy=17 y=4.25(cm)
. (D15—2=8.5 x=6.5(m)
(2)32=120 x==40(F)

#E 10 BHEEQ

.(Ddr =8 (2)5xr =8 1K TN

2.2=16 x=5 x=11
3. (D10x—1=39 x=4

(OWHEWET = Bk,
20+12=62 x=25
. VO x DI AR/ NI AR Y 3 4
46+x=312+x) x=5

A 11 e EAEO

DA PFIH LT
BRETE—F TR =G ILE
EXABAH 2T x—27=34
(DIRIRSAETLS 7
RARIIARES X =255 AR
REASF 2 & 8x=T2

.x=13.6 x=35 x=4

3.(DA (2B
4. BEXPFEHZ IR © T,

x—160=699 =859

5. B/NRMMECH o ) 5x+12=32 x=4

. BRI o om
4x-+1389. 66=8848. 86 x+=1864.8
Axr+1400=11000 x=2400

R 12 R FAEQ

=17 x=7 x=3.6
(D—BHFFER X3+1 32+1=106
()RR EREO 12+ 3R ] B4R %L
122+2=20

(3) 2R bl L 43 SR SR — B D BRI A

B 1151—242=23

3.(DA (DA
4. WHHBERY A TN « Jt.

x+x+500=8000 x=3750
I8 4E A 1% 3750 oG
B8 H T .3750+500=4250(J0)

- AR RS EE/NE AT 2 km,

2x+22=170 x=T74

- BOX AR/ NN TRE 2 km,

Tx+120=715 x=385

- B 25 TLRYATI A H 2« e,

12X1.4+8x=24 x=0.9

- BFORX RGN & m,

(2445 X (x+5) —24x=220 2x=15

B 13 BAERFEQ

=18 x=0.32 x=0.3
. WL HR/NAT 2 km,

(78+2)X2.5=375 x=T72

- BRI« ke,

xtat+2=54 x=26 x+2=28

CBAESORE T & R

1. 2x+1.1(10—2)=11.6
x=6 'ﬁEjCZIKG 2’—( %&%2'—(:10*6:4(21-()

- WA RYIE 2 J0 WA B4 2 32 JE,

3x X3+3x=240 x=20
E TR X TH
FFEAAY 120X 3=60(T0)

CWRERT a2 AL BRI (23004,

x+xr—30=260 x=145
TR 1454 LE:145—30=115(#)

- BN 2 % B E R AR IE AR/ NG 5 A

.50 —zx=49—13
x=9
RI/NBH 9 5 BT s AR SR/ NI 5 %

R ANBIINH asbieod A DBZFN 2

BB 3 DA abe sabd > bed yacd X 4 Fh
FE ORI AT 22 SRR BTN T 3 4k,

i 32 =224244274+20,

30 =93,x=31,7Lk,31—22=9

31—24=7 31—27=4 31—20=11

Bl 4 A%k :4,7,9,11

RET 14 %Z6%
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.(D2x 3x x (2)% —  (3)80a L

(D7 BPHBBRIAR LM

8 80

7 BIPEBRAOF 6 BB 0 R



S U e W N

N ook owN

. (DF¥#

(DX

I SIS

(D45

. (DY
(D)W
. (DB (DC
. 45X (45—5)=1800(m")
. 25X12+24=12.5(cm)

. (1)20 cm?®

6 1.4 8.4
VN NN XA REREES 0)
dr=64 =16 64—16=48(%%)

CEHMEASE L &

x—7.52=6 x=4

- W MARPAFR RS .

0. 200+10x=150+20x =5

. 84

BN ZBEAER

we 1 FHwWaHgaR0

K K K

mORXE ah
(2)450 24 14000
(3)162

2 /NI L2

(4113
PN EIN
i
4.8X2.1=10.08(m")

M 2.5X1.4=3.5(cm?)

. 240X 125=30000(m?) =3 (A ki)

7.38+3=2. 46 (i)

WS —&NR x em,

M.12.5X6=10x x=7.5(cm)
TRks2 . (12.5+7.5) X2=40(cm)

RE 2 FHWRAHGERO

(2)180 em®
(336.4cm” 12dm 25m
(2) X
(2)5X8=40(cm”)
(XA (DB

T FRAR 45

(25412.5) X2=75(cm)

- BOPATIIE R .

7.5X6=9Xx x=5(cm)

. 12X6—20=52(cm®)

w3 ZABERO

(2)6.4 cm®  (3)126 m’

1L.(D7 (D4 (34
(DO

. 5 X9.5XE=56.25

1
18X —=9(cm®)

2

1 ; ,
. X62X44=1364(cm”)=~14(dm’)

2

é ZE~11. 8(dm)

R4 ZAMGERO

(465 32.5

(OX DY WX

3.(LB (2)B

1. (1)o.1 0.3

.21.525
L (124+4) X7=112(em?”)
. FJE=17.5—5—5=7.5(cm)

= W N

.S:%X6><6><254:4572(cm2)

. i><8x12><18:864<1¢5k)

2

. KHLE R 48X 2+12=8(m)

BARH T LN 20 X 8+2=80(m*)

. B5:6.2X2-3.1=4(dm)

JR =B 12. 4X4+2=24. 8(dm®)
B 5 #HHarO

It
13.42 36.18 132 26.5

1 ‘
S:7><(17. 5+7.5) X5=62. 5(cm?)

B 6 HBEARQ

(2)12.3

2.ABC BCD BCO

3. (1)16—9="7(cm)

(2)8.6—1.6—2.8=4.2(cm)
(8. 6+4.2)X5.2-+-2=33.28(cm?)

- NI L B TR

(16432) X (26+2)+2X2=624(cm?)
624X 300+100--100=18. 72(m?)

. (50—16+50) ><20><i:840(m2>

2

1
. ?x (30+50) X 30—30X30=300(m*)

- BRI o 0

% X (4+6+Dx=35

14. 658

(7416) X 12-+-2=138(cm®)



2.(D31

x=5(cm)

AT VYA TE TR R 4 X 5=20(cm?)

. FIE.6+(2.5— 1D =4(cm)

TIE:4X2.5=10(cm)
H:10 em TR (44-10) X10+2=70(cm?)

A R R L R AR

. g
. I

1 1 ,
. (1)7><20><50+7><50><3O:1250(m2)

(2)8X 442X 6=44(m*)

.24><10*i><24><5:180(m2)

2

. (1)6><4+%><6><2:30(m2)

30X 0. 6=18(kg)
(2. 7X 842X 243X 7=81(cm?)

. HEFPHAR 20X 9—1X9=171(m")

171 X12=2052(J8)

A8 RALM E Y g dy AR

CHOTE BAR S ATE—AR CEA% B 6

14 =M 12
(2)50

3. 72Q5 %)
4.40

N = W N =

(D24
(DA
L (DA2)
. (30—3X6)+2=6(dm?)
. BRI 2. 6 X2, 6+1. 8X 1. 8=10(dm?)

E Y

(2)193.5 (3)2 (D4
(DX ()X (Y
=M SRS

s )

(5)220

PIAZE H = AIE TR -
1
5 X[2.6X2.6+(2.6+1.8)X1. 8]

=7.34(dm?)
B34 T FL . 10— 7. 34=2. 66(dm®)

. EVFIRZ AL 65—15=50(m)

FAIZEFL 50X 15+2=375(m?)

1 i
. Sy =5 X26X40=520(m") B,

2

[\

N QN N e W

. 10—3=7(cm)

(132
- MRE= IR -1

Sy =40X40=1600(m*)
Sm:%X (40—26440) X 40=1080(m*)

Sy =1600—1080="520(m")
(74+10) X4-+2=34(cm*)
Bt #HFEI A—EREE
PRET 1 AT A

(11

(2)5 (4)534

20-4-+1=6(HH

. (26—1) X 8=200(m)
(D4
204 —1=4()
.8X(10+1)=88(m)
72 TR/ =20 K /B

(2)2

30X 20=600Cf)
600 (16—1)=40CK)

B 2

S )

(D% 32 ML 8 BL. 4 A LA 52l 28

HeCa A LD BRI
(D4 AL ERg

2.114+6=19(FF)
3. (1204-45) X2+3=110(4)
4. 1800-+-6=300(FH)

B AR 2 300 R

. AT A 64--4+H1=17()

17X17=289CA)

B\ 2E3
RE 1 DR HRE
1.6.3 2.5 3.63 0.4 450 1.75 0.1 0.42 5
2. (DY (2)0. 54
(3)2.9 (4)2.804 2.795
3.19.2 5.213 6.5
4. W EHTF:7.2 264.6 5 30.72 2.5
48 3:.82. 084-264. 6-+22. 54-30. 72-+16. 25
=416.15(7D)
5.1.2X (4. 545.5)=12

0.125X0.8X3.16=0.1X3.16=0. 316



.(DC
L(DE 4

S vk oW

.(1)3.6

. 20. 8-5=4. 16 (/A1 /K)

4. 16 X7=29. 12(A1)
62.4-4.16=15(F)

. 200X 55X 3. 6=39600(})

39600X0. 2=7920(kg)
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5. (1)% X (42+48) X 21—21X1.5=913. 5(m®)

(2)913.5X0. 7=639. 45(kg)



